Trig 5.2

Find the values of trig ratios
for acute angles*
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cosecent
secant
cotangent
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side adjacent

Words Symbol Definition
; : . o _ side opposite
sine ¢ Sin 0 sin @ = hypotenuse Side Hypotenuse
Trigonometric , side adjacent | OPPOSit
Ratios cosine Los cos | = “hypolenuse
——

SOH-CAH-10A Is a mnemonic device commonly used for remembering these

ratlos.
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(Handel s Hallelujah Chorus)

Soh Cah Toa!
Soh Cah Toa!
Learn it. and use it!
Soh Cah Toa!

Sine is opposite over hypotenuse.
Soh Cah Toa

Soh Cah Toa

Learn it. and use it!

Cosine is adjacent over hypotenuse.
Soh Cah Toa

Soh Cah Toa

Learn it. and use it!

Tangent is opposite over adjacent!
Soh Cah Toa
Soh Cah Toa

SOH CAH TOA!
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5. Find the values of the sine, cosine, and tangent
for LT
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x EXACT: Fraction (and/or radical) vs APPROX: decimal form (round off)
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Find the values of the sine, cosine, and
i tangent for ZB.
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New:

D Words | Symbol Definition

§‘h’-’- k gosecant 0 csc csc @ = .I or !‘lypo fenus_e
sin — side opposite Side Hypotenuse

R ilsms c!-_ ‘o 0 s 1 hypotenuse Opposite
T §ric | gecan e 38U = cos 0 ' side adjacent
Refios o : e od L

- - side adjacent Side Adjacent

n 'S coftangent ¢ cot @ cot 0 = r— s opposite

I'hese definitions are called the reciprocal identities.




B.lf sinf = g find csc 6.5 '§_ 5
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7.1f cot 6 = 1.5, find tan 6.\
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8. Find the values of the six trigonometric Q g L "’
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o Find the values of the six trigonometric ratios for £P.
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Must know these, will talk strategies tomorrow.
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